

# An application of generalized Bessel functions on certain analytic functions

Saurabh Porwal

Department of Mathematics

U.I.E.T. Campus, C.S.J.M. University, Kanpur-208024, (U.P.), India

saurabhjcb@rediffmail.com

K.K. Dixit

Department of Engineering Mathematics

Gwalior Institute of Information Technology, Gwalior-474015, (M.P.), India

kk.dixit@rediffmail.com

---

## Abstract

The purpose of the present paper is to investigate some characterization for generalized Bessel functions of first kind to be in various subclasses of analytic functions. We also consider an integral operator related to the generalized Bessel function.

Received September 5, 2012

Accepted in final form August 23, 2013

Published online September 6, 2013

Communicated with Peter Maličský.

**Keywords** analytic, univalent functions, generalized Bessel functions.

**MSC(2010)** 30C45.

---

## 1 Introduction

Let  $A$  denote the class of functions  $f$  of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1.1)$$

which are analytic in the open unit disk  $U = \{z : z \in C \text{ and } |z| < 1\}$  and satisfy the normalization condition  $f(0) = f'(0) - 1 = 0$ . Further, we denote by  $S$  the subclass of  $A$  consisting of functions of the form 1.1 which are also univalent in  $U$  and  $T$  be the subclass of  $S$  consisting of functions of the form

$$f(z) = z - \sum_{n=2}^{\infty} |a_n| z^n. \quad (1.2)$$

Let  $T(\lambda, \alpha)$  be the subclass of  $T$  consisting of functions which satisfy the condition

$$\operatorname{Re} \left\{ \frac{z f'(z)}{\lambda z f'(z) + (1 - \lambda) f(z)} \right\} > \alpha, \quad (1.3)$$

for some  $\alpha(0 \leq \alpha < 1)$ ,  $\lambda(0 \leq \lambda < 1)$  and for all  $z \in U$ .

Also, we let  $C(\lambda, \alpha)$  denote the subclass of  $T$  consisting of functions which satisfy the condition

$$\operatorname{Re} \left\{ \frac{f'(z) + zf''(z)}{f'(z) + \lambda zf''(z)} \right\} > \alpha, \quad (1.4)$$

for some  $\alpha(0 \leq \alpha < 1)$ ,  $\lambda(0 \leq \lambda < 1)$  and for all  $z \in U$ .

From 1.3 and 1.4 it is easy to verify that

$$f(z) \in C(\lambda, \alpha) \Leftrightarrow zf'(z) \in T(\lambda, \alpha).$$

The classes  $T(\lambda, \alpha)$  and  $C(\lambda, \alpha)$  were extensively studied by Altintas and Owa [1] and certain conditions for hypergeometric functions for these classes were studied by Mostafa [11].

It is worthy to note that  $T(0, \alpha) \equiv T^*(\alpha)$ , the class of starlike functions of order  $\alpha(0 \leq \alpha < 1)$  and  $C(0, \alpha) \equiv C(\alpha)$ , the class of convex functions of order  $\alpha(0 \leq \alpha < 1)$  (see [13]).

We recall that the generalized Bessel function of the first kind  $w = w_{p,b,c}$  is defined as the particular solution of the second-order linear homogenous differential equation

$$z^2\omega''(z) + bz\omega'(z) + [cz^2 - p^2 + (1-b)p]\omega(z) = 0, \quad (1.5)$$

where  $b, p, c \in C$ , which is a natural generalization of Bessel's equation. This function has the familiar representation

$$\omega(z) = \omega_{p,b,c}(z) = \sum_{n=0}^{\infty} \frac{(-1)^n c^n}{n! \Gamma(p+n+\frac{b+1}{2})} \left(\frac{z}{2}\right)^{2n+p}, \quad z \in C. \quad (1.6)$$

The differential equation 1.5 permits the study of Bessel function, modified Bessel function, spherical Bessel function and modified spherical Bessel functions all together. Solutions of 1.5 are referred to as the generalized Bessel function of order  $p$ . The particular solution given by 1.6 is called the generalized Bessel function of the first kind of order  $p$ . Although the series defined above is convergent everywhere, the function  $\omega_{p,b,c}$  is generally not univalent in  $U$ . It is worth mentioning that, in particular, when  $b = c = 1$ , we reobtain the Bessel function  $\omega_{p,1,1} = J_p$ , and for  $c = -1, b = 1$  the function  $\omega_{p,1,-1}$  becomes the modified Bessel function  $I_p$ . Now, consider the function  $u_{p,b,c}$  defined by the transformation

$$u_{p,b,c}(z) = 2^p \Gamma\left(p + \frac{b+1}{2}\right) z^{-p/2} \omega_{p,b,c}(z^{1/2}).$$

By using the well-known Pochhammer (or Appell) symbol, defined in terms of the Euler Gamma function for  $a \neq 0, -1, -2, \dots$  by

$$(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)} = \begin{cases} 1, & \text{if } n = 0 \\ a(a+1)\dots(a+n-1) & \text{if } n = 1, 2, 3, \dots, \end{cases},$$

we obtain for the function  $u_{p,b,c}$  the following representation

$$u_{p,b,c}(z) = \sum_{n=0}^{\infty} \frac{(-c/4)^n}{\left(p + \frac{(b+1)}{2}\right)_n} \frac{z^n}{n!}, \quad (1.7)$$

where  $p + (b+1)/2 \neq 0, -1, -2, \dots$ . This function is analytic on  $C$  and satisfies the second-order linear differential equation

$$4z^2u''(z) + 2(2p+b+1)zu'(z) + czu(z) = 0.$$

The convolution (or Hadamard product) of two series  $f(z) = \sum_{n=0}^{\infty} a_n z^n$  and  $g(z) = \sum_{n=0}^{\infty} b_n z^n$  is defined as the power series

$$(f * g)(z) = \sum_{n=0}^{\infty} a_n b_n z^n.$$

Now, we considered a linear operator  $I(k, c) : A \rightarrow A$  defined by

$$\begin{aligned} I(k, c)f &= z u_{p,b,c}(z) * f(z) \\ &= z + \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} a_n z^n, \end{aligned}$$

where  $k = p + \frac{b+1}{2}$ . The generalized Bessel function is a recent topic of study in Geometric Function Theory (e.g. see the work of [2], [3], [4], [5] and [10]). Motivated by results on connections between various subclasses of analytic univalent functions by using hypergeometric functions (see [6], [7], [9], [12], [14], [15]) and by work of Baricz [2]-[5], we obtain sufficient condition for function  $z(2 - u_p(z))$  belonging to the classes  $T(\lambda, \alpha)$ ,  $C(\lambda, \alpha)$  and connections between  $R^r(A, B)$  and  $C(\lambda, \alpha)$ . Finally, we give a condition for an integral operator  $G(k, c, z)$  belonging to the class  $C(\lambda, \alpha)$ .

For convenience throughout in the sequel, we use the following notations:

$$u_{p,b,c} = u_p, \quad k = p + \frac{b+1}{2}.$$

## 2 Main Results

To establish our main results, we shall require the following lemmas due to Dixit and Pal [8], Altintas and Owa [1] and Baricz [4].

**Lemma 1.** ([8]) *If  $f \in R^r(A, B)$  is of the form 1.1 then*

$$|a_n| \leq \frac{(A-B)|\tau|}{n}, \quad (n \in N \setminus \{1\}). \quad (2.1)$$

*The bounds given in 2.1 is sharp.*

**Lemma 2.** ([1]) *A function  $f(z)$  defined by 1.2 is in the class  $T(\lambda, \alpha)$ , if and only if*

$$\sum_{n=2}^{\infty} [n - \lambda\alpha n - \alpha + \lambda\alpha] |a_n| \leq 1 - \alpha.$$

**Lemma 3.** ([1]) *A function  $f(z)$  defined by 1.2 is in the class  $C(\lambda, \alpha)$ , if and only if*

$$\sum_{n=2}^{\infty} n [n - \lambda\alpha n - \alpha + \lambda\alpha] |a_n| \leq 1 - \alpha.$$

**Lemma 4.** ([4]) *If  $b, p, c \in C$  and  $k \neq 0, -1, -2, \dots$  then the function  $u_p$  satisfies the recursive relation  $4ku'_p(z) = -cu_{p+1}(z)$  for all  $z \in C$ .*

**Theorem 5.** *If  $c < 0$ ,  $k > 0$  ( $k \neq 0, -1, -2, \dots$ ), then  $z(2 - u_p(z))$  is in  $T(\lambda, \alpha)$  if and only if*

$$(1 - \alpha\lambda)u'_p(1) + (1 - \alpha)u_p(1) \leq 2(1 - \alpha), \quad (2.2)$$

*Proof.* Since

$$z(2 - u_p(z)) = z - \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} z^n,$$

according to Lemma 2, we must show that

$$\sum_{n=2}^{\infty} [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \leq 1 - \alpha.$$

Now

$$\begin{aligned} & \sum_{n=2}^{\infty} [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \\ &= \sum_{n=0}^{\infty} [(n+2)(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n+1}}{(k)_{n+1}(n+1)!} \\ &= (1 - \alpha\lambda) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}n!} + (1 - \alpha) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}(n+1)!} \\ &= (1 - \alpha\lambda)u'_p(1) + (1 - \alpha)[u_p(1) - 1]. \end{aligned}$$

But this last expression is bounded above by  $1 - \alpha$  if and only if 2.2 holds. Thus the proof of Theorem 5 is established.  $\square$

**Remark 6.** In particular when  $c = -1$  and  $b = 1$ , the condition 2.2 becomes

$$2^{p-2}\Gamma(p+1)[(1 - \alpha\lambda)I_{p+1}(1) + 2(1 - \alpha)I_p(1)] \leq 1 - \alpha, \quad (2.3)$$

which is a necessary and sufficient condition for  $z(2 - \zeta_p(z^{1/2}))$  to be in  $T(\lambda, \alpha)$ , where

$$\zeta_p(z^{1/2}) = 2^p\Gamma(p+1)z^{-p/2}I_p(z^{1/2}). \quad (2.4)$$

**Theorem 7.** If  $c < 0$ ,  $k > 0$  ( $k \neq 0, -1, -2, \dots$ ), then  $z(2 - u_p(z))$  is in  $C(\lambda, \alpha)$  if and only if

$$(1 - \alpha\lambda)u''_p(1) + (3 - 2\alpha\lambda - \alpha)u'_p(1) + (1 - \alpha)u_p(1) \leq 2(1 - \alpha), \quad (2.5)$$

*Proof.* Since

$$z(2 - u_p(z)) = z - \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} z^n,$$

according to Lemma 3, we must show that

$$\sum_{n=2}^{\infty} n[n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \leq 1 - \alpha.$$

Now

$$\begin{aligned}
& \sum_{n=2}^{\infty} n [n(1-\alpha\lambda) - \alpha(1-\lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \\
&= \sum_{n=2}^{\infty} \{(1-\alpha\lambda)(n-1)(n-2) + (3-2\alpha\lambda-\alpha)(n-1) + (1-\alpha)\} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \\
&= (1-\alpha\lambda) \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-3)!} + (3-2\alpha\lambda-\alpha) \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-2)!} + (1-\alpha) \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \\
&= (1-\alpha\lambda) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}(n-1)!} + (3-2\alpha\lambda-\alpha) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}n!} + (1-\alpha) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}(n+1)!} \\
&= (1-\alpha\lambda) \frac{(-c/4)^2}{k(k+1)} \sum_{n=0}^{\infty} \frac{(-c/4)^{n-1}}{(k+2)_{n-1}(n-1)!} + (3-2\alpha\lambda-\alpha) \frac{(-c/4)}{k} \sum_{n=0}^{\infty} \frac{(-c/4)^n}{(k+1)_n n!} + (1-\alpha) \{u_p(1) - 1\} \\
&= (1-\alpha\lambda) \frac{(-c/4)^2}{k(k+1)} u_{p+2}(1) + (3-2\alpha\lambda-\alpha) \frac{(-c/4)}{k} u_{p+1}(1) + (1-\alpha) \{u_p(1) - 1\} \\
&= (1-\alpha\lambda) u_p''(1) + (3-2\alpha\lambda-\alpha) u_p'(1) + (1-\alpha) \{u_p(1) - 1\}
\end{aligned}$$

But this last expression is bounded above by  $1-\alpha$  if and only if 2.5 holds. This completes the proof of Theorem 7.  $\square$

**Theorem 8.** Let  $c < 0$ ,  $k > 0$  ( $k \neq 0, -1, -2, \dots$ ). If  $f \in R^\tau(A, B)$  and the inequality

$$(A - B)|\tau| [(1 - \alpha\lambda)u_p'(1) + (1 - \alpha) \{u_p(1) - 1\}] \leq 1 - \alpha, \quad (2.6)$$

is satisfied then  $I(k, c)f \in C(\lambda, \alpha)$ .

*Proof.* By Lemma 3, it suffices to show that

$$P_1 = \sum_{n=2}^{\infty} n [n - \lambda\alpha n - \alpha + \lambda\alpha] |a_n| \leq 1 - \alpha.$$

Since  $f \in R^\tau(A, B)$  then by Lemma 1 we have

$$|a_n| \leq \frac{(A - B)|\tau|}{n}.$$

Hence

$$\begin{aligned}
P_1 &\leq (A - B)|\tau| \sum_{n=2}^{\infty} [n(1-\alpha\lambda) - \alpha(1-\lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \\
&= (A - B)|\tau| \sum_{n=0}^{\infty} [(n+2)(1-\alpha\lambda) - \alpha(1-\lambda)] \frac{(-c/4)^{n+1}}{(k)_{n+1}(n+1)!} \\
&= (A - B)|\tau| \left[ (1-\alpha\lambda) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}n!} + (1-\alpha) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}(n+1)!} \right] \\
&= (A - B)|\tau| \left[ (1-\alpha\lambda) \frac{(-c/4)}{k} \sum_{n=0}^{\infty} \frac{(-c/4)^n}{(k+1)_n n!} + (1-\alpha) \{u_p(1) - 1\} \right] \\
&= (A - B)|\tau| \left[ (1-\alpha\lambda) \frac{(-c/4)}{k} u_{p+1}(1) + (1-\alpha) \{u_p(1) - 1\} \right] \\
&= (A - B)|\tau| [(1 - \alpha\lambda)u_p'(1) + (1 - \alpha) \{u_p(1) - 1\}].
\end{aligned}$$

But this last expression is bounded above by  $1 - \alpha$  if and only if 2.6 holds.  $\square$

### 3 An Integral Operator

In the following theorem, we obtain similar results in connection with a particular integral operator  $G(k, c, z)$  as follows

$$G(k, c, z) = \int_0^z (2 - u_p(t)) dt \quad (3.1)$$

**Theorem 9.** *If  $c < 0$ ,  $k > 0$  ( $k \neq 0, -1, -2, \dots$ ), then  $G(k, c, z)$  defined by 3.1 is in  $C(\lambda, \alpha)$  if and only if*

$$(1 - \alpha\lambda)u'_p(1) + (1 - \alpha)[u_p(1) - 1] \leq (1 - \alpha). \quad (3.2)$$

*Proof.* Since

$$\begin{aligned} G(k, c, z) &= z - \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \frac{z^n}{n} \\ &= z - \sum_{n=2}^{\infty} \frac{(-c/4)^{n-1}}{(k)_{n-1}} \frac{z^n}{n!} \end{aligned}$$

by Lemma 3, we need only to show that

$$\sum_{n=2}^{\infty} n [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}n!} \leq 1 - \alpha.$$

Now

$$\begin{aligned} &\sum_{n=2}^{\infty} n [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}n!} \\ &= \sum_{n=2}^{\infty} [n(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n-1}}{(k)_{n-1}(n-1)!} \\ &= \sum_{n=0}^{\infty} [(n+2)(1 - \lambda\alpha) - \alpha(1 - \lambda)] \frac{(-c/4)^{n+1}}{(k)_{n+1}(n+1)!} \\ &= (1 - \alpha\lambda) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}n!} + (1 - \alpha) \sum_{n=0}^{\infty} \frac{(-c/4)^{n+1}}{(k)_{n+1}(n+1)!} \\ &= (1 - \alpha\lambda)u'_p(1) + (1 - \alpha)[u_p(1) - 1], \end{aligned}$$

which is bounded above by  $1 - \alpha$ , if and only if 3.2 holds.  $\square$

**Remark 10.** If we put  $c = -1$  and  $b = 1$  in Theorem 7-9 we obtain analogues results of 2.3.

### References

- [1] O. Altıntaş and S. Owa, On subclasses of univalent functions with negative coefficients, *Pusan Kyōngnam Math. J.*, **4** (1988), 41–56.
- [2] A. Baricz, Geometric properties of generalized Bessel functions, *Publ. Math. Debrecen*, **73**(1-2) (2008), 155–178.

- [3] A. Baricz, Geometric properties of generalized Bessel functions of complex order, *Mathematica*, **48**(71)(1) (2006), 13–18.
- [4] A. Baricz, “Generalized Bessel functions of the first kind”, PhD thesis, Babes-Bolyai University, Cluj-Napoca, (2008).
- [5] A. Baricz, “Generalized Bessel functions of the first kind”, Lecture Notes in Math., Vol. 1994, Springer-Verlag (2010).
- [6] B.C. Carlson and D.B. Shaffer, Starlike and prestarlike hypergeometric functions, *J. Math. Anal. Appl.*, **15** (1984), 737–745.
- [7] N.E. Cho, S.Y. Woo and S. Owa, Uniform convexity properties for hypergeometric functions, *Fract. Cal. Appl. Anal.*, **5**(3) (2002), 303–313.
- [8] K.K. Dixit and S.K. Pal, On a class of univalent functions related to complex order, *Indian J. Pure Appl. Math.*, **26**(9) (1995), 889–896.
- [9] E. Merkes and B.T. Scott, Starlike hypergeometric functions, *Proc. Amer. Math. Soc.*, **12** (1961), 885–888.
- [10] S.R. Mondal and A. Swaminathan, Geometric properties of Generalized Bessel functions, *Bull. Malays. Math. Sci. Soc.*, **35**(1) (2012), 179–194.
- [11] A.O. Mostafa, A study on starlike and convex properties for hypergeometric functions, *J. Inequal. Pure Appl. Math.*, **10**(3) (2009), Art., 87, 1–16.
- [12] St. Ruscheweyh and V. Singh, On the order of starlikeness of hypergeometric functions, *J. Math. Anal. Appl.*, **113** (1986), 1–11.
- [13] H. Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.*, **51** (1975), 109–116.
- [14] H. Silverman, Starlike and convexity properties for hypergeometric functions, *J. Math. Anal. Appl.*, **172** (1993), 574–581.
- [15] A. Gangadharan, T.N. Shanmugam and H.M. Srivastava, Generalized hypergeometric functions associated with k-Uniformly convex functions, *Comput. Math. Appl.*, **44** (2002), 1515–1526.